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Multiplique decimais por poténcias negativas de dez

Nome:

5371,1x0.1 =

7325,6 x0.01 =

1681 x 0.001 =

2246,7 x 0.001 =

7123,5x0.0001 =

9725,8 x0.01 =

3391, 6 x 0.0001 =

6144,2 x 0.01 =

4168,9 x 0.01 =

4764,3 x 0.01 =

Encontro: Data:

5380,9 x 0.001 =

Pontuagao:

4061, 4 < 0.0001 =

9767,5x0.1 =

3049,2 x 0.1 =

2245,5 % 0.0001 =

2352,5x0.01 =

9190, 8 x 0.01 =

7027,2 % 0.0001 =

2390,3 x 0.001 =

7049, 4 x 0.0001 =
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(Y YUK X

Multiplique decimais por poténcias negativas de dez

Nome:

5371,1 x0.1 =537.11

7325,6 x 0.01 = 73.256

1681 x 0.001 = 1.681

2246,7 x 0.001 = 2.2467

7123,5 % 0.0001 = 0.71235

9725,8 x 0.01 = 97.258

3391,6 x 0.0001 = 0.33916

6144,2 x 0.01 = 61.442

4168,9 x 0.01 =41.689

4764, 3 x 0.01 =47.643

Encontro: Data: Pontuacao:

5380,9 x 0.001 = 5.3809

4061, 4 x 0.0001 = 0.40614

9767,5 % 0.1 =976.75

3049,2 x 0.1 = 304.92

2245,5 % 0.0001 = 0.22455

2352,5x0.01 = 23.525

9190, 8 x 0.01 = 91.908

7027,2 % 0.0001 = 0.70272

2390, 3 x 0.001 = 2.3903

7049, 4 x 0.0001 = 0.70494
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